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Note: () Thereareinall 30 questions in this question paper. All questions are compulsory.

@) QuestionNo. 1 to 8 carry one mark each. QuestionNo. 9 to 18 carry two marks each, question no.
19 to 27 carry three marks each and question no. 28 to 30 carry five marks each.

@) Question No. ! to 4 are multiple choice questions. Here four options are given in each question.
Write the correct option in your answer book.

(iv) There is no overall choice in question paper, however, an internal choice has been provided in two
questions of 2 marks, three questions of 3 marks and all questions of 5 marks each. You have to
attempt only one of the given choices in such questions.

(v) Draw neat and labelled diagrams wherever necessary.

1. far Pes @ faelim 89 a9 we ®eord & 1
Fruits develop without fertilisation are called :
G ST el G) arfQ® wd (i) I N® ST e Gv) IF Bt
False fruit True fruit Parthenocarpic fruit Dry fruit
2. geTETBee” R @ A HERW F FE g e 1
The number of chromosomes in the individual suffering from Klinefelter’s syndrome 1s:
@ 48 @ 47 i) 46 (iv) 45
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3. weRerel gredl # gRiAl wuEika gl 8- I
In desert plants, leaves are reduced to
@ @A (iy o # Giy wer A (iv) e

spines stem frat flower

4. ufesias @1 Pt g 8- 1
Antibiotics are produced by :

@ ferf= g (i) WR>IT gRT @) TSR FIRT (v) Ge il gwT
Vitamin Chemical Protozoa Microbes

5. frey ve a9 |l A @1 A faRa | 1
Name a sexually transmitted disease.

6. foeaRr wra W omRa dvea @1 $14 w fgm § 7 am e 1
Which Mendel’s law is based on dihybrid cross? Write its name.

7. SIS A E 7 1
What is Biopiracy ?

8. TEY Wl B I Sevy foRay |
Write two aims of plant conservation.

9. TF YUl UrEy & U It SRS H TR B Adwan 24 8 | frforita § qorgAl @ ww@n
There are 24 chromosomes in vegetative cell of a flowering plant. How many chromosornes will be in the
following -

() URETE (fiy 31UE BT (i) YoTUTY (iv) GrHAS
Podlen grain Cg cell Endosperm Zyvgote

10, Brfrsadty wmdar gave g3 € 7 9e 37 wHi gasll 2

What is Medical Termination of Pregnancy (M.T.PY 7 Write its two impacts.

Y41 (OR)
St feme qar & ? s 9iy ) @ frftad ek @ <1 Uy 9angy |
What is population explosion ? State two steps to overcome population growth rate.

11, el fafh=or @ & 7 STl <aY HHATR | 2
What is adaptive radiation ? Explain with example.

12, 7R T WA H™ Bam gt sial 1 a9 AR | 2
Write names of Malaria and Cough causing organism.

13, Tfaeef@eor FaT & ? Aty yRRefiER o1 7@ Iarexer QT | 2
What is Imrnunisation ? Give an example of passive immunisation.
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14, A N Ua S, 1 HHEOT DY B 8 ? W P | 2
How 1. . V. infects in human 7 Clarify.
15. Sd AqdE @ & JuanT fFRau 2
Write two uses of tissue cultare.
34T (OR)
A e § @] o § 7 EAR Siad  Hel ®I HEd € 7
What is Apicuiture ? Uow itis important inour life 7
16, WTRTE AU @ SUHR Wl Ue o eradn g | 2
Write a case sindy of remedy for plastic waste.
17, SeTERY &) HErd ¥ W sgeen 7 g uilkRerfde fOufie o1 wwsige | 2
Explain an upright and an inverted ecological pyramids with the help of example.
18, aoa Fram & freiRl & vopied I1 3 @ Yo & fae @ ARG axar R 3R gwd HE 9
S FHdl 8 7 2
In vour view what motivates youngsters to take alcohof or drugs and how can this be avoided 7
19. () ofdq TH AT & 7 WL BN 1%
What is menstrual cycle ? Clarify.
(@) TEeTV] B GIIAT P s Ta AT A R 1Y%
Draw a neat and labelled diagram of sperm.
20, wg wwifdar o srgol wnfaar o SeTeRr Afes AHHsy | 3
Uxplain Co-dominance and Incomplete dominance with EXampics.
aAqT (OR)
Arg 3 T Reieor @ ufbn o x@ias R A |
Explain the process of sex determination in human being diagrammatically.
21, wrd S R @& 99 deg g 3
Write three goals of human genome project.
22, fieR & an bl Bdal ARG Feuer B | 3
Draw only diagrammatic representation of Miller s experiment.
23, gewrhat @Y g sdve B U # F IuAIf 8 ? IIE Hind [’ | 3
What are the uses of microbes as biofertilisers ? Explain with examples.
24, P 3wl @ DO oreR farfae- 1%+1% =3
Write three differences between each of the following :
(@) D.N.A. T R N.A. (W) vaargfaeds @ Gerglderas
D.N.A.and R, N A. Exonuclease and Endonuclease.
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25.

26.

27.

28.

30.

g fawra @ i drg wen & faRer SR

W e @ & ? v Rudae @) o B & SR <4 g aHEsl 3
What is Gene Therapy ? Ilustrate using the example of Adenosine Deaminase deficiency.

312AHT (OR)
frafeafeg w gfaw faeh falRay - 14104 = 3

Write short note on the following :
() 3rvaTE FATT (@) vfdgdas a1 IPa
Downstream Processing Originof replication
PR & &7 A oA & B A= s o geerg g 2

Write any three importance of biotechnology in the area of agriculture.

ygtarofa yeuor ®1 Qe @ foIg ong @ Surd Wi ? 3

What measures would you take to reduce environmental pollution ?

34T (OR)
A9 &3 quT B RO H ool BT
Mention the causes of Green House cffect.
?—r@mﬂgﬂﬁawgﬁmﬂaﬁﬁﬁiﬁrﬂamwwaﬁﬁmwm&ﬁtﬁaﬁa‘%ﬂmmm
PR B =T 21dl £ ? o9 oFT geEEl @ id A 9 gl SRaell @ AF 9oigl) 5

Differentiate between microsporogenesis and megasporogenesis. Which type of cell division occurs during
these events ? Name the structures formed at the end of these two events.

314l (OR)
ST Ud dgui B AN Al B e W e’ |

Fxplain spermatogenesis and oogenesis with the help of diagrammatic sketches.

LA

Describe any five cvidences of evolution.
3Ud] (OR)
(@) sifdvarg @ dapeare B FAsngy | 2%
Elaborate the concepts of Darwimanism.
(@) o de @1 wyd fadart fofa | 24
Write the salient features of genetic code.
rema @ qRRefs 93 @ A gea! o1 afam aofa st | 5
Describe the various components of a Pond ecosystem diagrammatically.
3[4l (OR)
fr=iferRaa & amen B | 24 2% =5
Fxplain the following :
(@) Wearafra sl (@) S fafaear
Radiocactive Wastes Biodiversity

A Ok
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